Manual Adjustment for LPA

If company 2018 Jan starting using SQL, how to do adjustment for LPA adjustment for 2017?

Longer Period Adjustment need to have actual taxable supplies amount from year 2017, that
the reason user has to pass manually.

Scenario 1 : Under Claim Input Tax

Assume user is Quarterly submission. The adjustment happens on Second Taxable Period,
which on 30/6/2018. After user self-calculate the amount have under claim the input Tax for
RM 100, below is the sample adjustment in journal :

GET - CLAMARE  |GS5T T

Arrus Adusyvent TERE for e year 2317 AF-OA

>
Bank Charges Acc |GST-301 v
Taxable Amount 1,666.67
Tax §|AIP-0y V ST - CLAIMABLE | AJP-OA J 1
Local Tax Amt 100
QK Cancel
5 =
§ Cancedad ' Uew
| : -
tese npm-n['.-: Arved Aduatrect TXE5" for thw pear 2117 l v e
WO iz est
rln\::':;:ﬁd -’l: Cescrpior Dwacprton Tox o O Locel CR Loced Tax Aret  Locs DR Locel CR { Taxabie Acvouni! » o
b[ TR, ;»r;u;vi-&s'(:sv Aorus Mdpasent TERE for e yoor 2017 = i W o.?(i i co 3 ::o.-_‘s;»' = ]

2o Touw: 0,03 100,00 100,00 30,03 10300 Cose




Scenario 2 : Over Claim Input Tax

Assume user is Quarterly submission. The adjustment happens on Second Taxable Period,

which on 30/6/2018. After user self-calculate the amount have Over claim the input Tax for
RM 100, below is the sample adjustment in journal :
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